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Which is the “Best” Pathway Forward?Which is the Best  Pathway Forward?
1. Eliminate all fossil fuel subsidies.
2 St th F d l d St t li i ti lik b t2. Strengthen Federal and State policy incentives, like rebates 

and tax credits for household and commercial adoption.
3. Eliminate all energy subsidies and let the market work.
4. Eliminate all energy subsidies and establish a carbon tax.
5. Ramp up Federal “clean” energy R&D.
6 Rely on State regulations to require utilities to meet targets6. Rely on State regulations to require utilities to meet targets.
7. Rely on the Clean Power Plan to induce virtuous cascade.
8. Eliminate utility franchise areas and permit full customer 

choicechoice. 
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Power got more expensive
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Power Got Expensive; Investors Got NowherePower Got Expensive; Investors Got Nowhere

Dow Jones Utility Index
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At the turn of the century, Wisconsin utilities expected 
sales to grow at 2.3% per year

(Source data: 2013 Wisconsin Energy Statistics)
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They didn't

(Source data: 2013 Wisconsin Energy Statistics)
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Are Utilities in Financial Trouble? Not now
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$7 000

3M Corp Cash Flows
Net cash returned to investors
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$160

MGE Energy Cash Flows
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MGE Energy
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Follow the cash: 3M Corp, past 10 years (net)Follow the cash: 3M Corp, past 10 years (net)

REINVEST 37%REINVEST
$19 billion 37%

IN
$50 billion

INVESTORS
$31 billion



Follow the cash: MGE, past 10 years (net)Follow the cash: MGE, past 10 years (net)

REINVEST 85%REINVEST
$927 million 85%

IN
$1,091
million

INVESTORSINVESTORS
$98 million









Market evolution 
and regulatory reform





©Steven Corneli

Two dimensions capture key features of natural monopolies, markets and non‐market social values: 

• Pricing power (the ability to set prices at or above effectively competitive levels and 
• The social benefits of integration  (due to economies of scale, scope, integration or network). 

This framework encompasses and distinguishes natural monopolies, markets, “public good” type 
market failures, and legally sanctioned or strategic monopolies,  as well as intermediate industry 
structures and can help identify appropriate policy and regulatory approaches It also can capture thestructures, and can help identify appropriate policy and regulatory approaches.  It also can capture the 
role of innovation in increasing societies’ overall wealth while reducing negative externalities. 













Applying an accurate 
financial framework







If l t t th t it t thIf regulators set the return on equity at the 
cost of equity, utility stocks would trade at book value.



• MGE Energy
• Stock price $46.65p $
• Book value $20.00

• WEC Energy Group
$

stock price exceeds
• Stock price $52.94
• Book value $27.45

• Alliant Energy

book value

Alliant Energy
• Stock price $61.76
• Book value $31.95

returns on equity must be 
noticeably higher than the 

cost of equity—and that’s OK

• Xcel Energy
• Stock price $36.26
• Book value $20 90• Book value $20.90



Recent estimatesRecent estimates

• Value Line median estimated electric utility ROE 10.0%

• Estimated cost of equity using finance principles 7.8%

• Both seem reasonable (even though most people in the industry 
would say the cost of equity is about 10%‐‐but there must be a gapwould say the cost of equity is about 10% but there must be a gap 
between r and k given the relationship between stock prices and 
book value)



McKinsey & Co on risk and the cost of 
itequity

Investors require compensation only for risksInvestors require compensation only for risks 
they cannot diversify away. The risks they cannot
diversify away are those that affect all companies—
for example, exposure to economic cycles [interest
rates, inflation, recession—not distributed 
generation]. Since most of the risks that companiesg ] p
face are in fact diversifiable, most risks don’t affect
a company’s cost of equity. 





Technical aside:

Today’s presentation discusses the effect 
of risk on equity holders. The impact onof risk on equity holders. The impact on 
debt is more complicated. (see book)



How does risk affect utility stock prices?How does risk affect utility stock prices?



How does risk affect utility stock prices?How does risk affect utility stock prices?
Most of the risk associated with 

distributed generation resides here...

...not here



QuestionQuestion

• Is the cost of equity for utilities today:
• 10 to 11% (all risk in cost of capital)
• 7 to 8% (only macroeconomic risk in cost of capital)

• Is the long‐term growth in utility dividends likely to:
• track GDP growth (5.0%)
• lag GDP growth (3 8%)• lag GDP growth (3.8%)
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Value of $1.00 Invested in 1950
(1950 ‐2014)
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QuestionQuestion

• Is the cost of equity for utilities today:
• 10 to 11% (all risk in cost of capital)
• 7 to 8% (only macroeconomic risk in cost of capital)

• Is the long‐term growth in utility dividends likely to:
• track GDP growth (5.0%)
• lag GDP growth (3 8%)• lag GDP growth (3.8%)



Morningstar on WEC Energy GroupMorningstar on WEC Energy Group

• We forecast $7.5 billion in capital expenditures through 2019, in line 
with management expectations, and rate‐base growth in line with our 
long‐term earnings forecast. We use a 7.5% cost of equity and a 5.6% 
weighted average cost of capital in our discounted cash flow 
valuation.





Alfred Kahn on the return on equityAlfred Kahn on the return on equity
• If we set the return on equity = the cost of equity (the minimum) 

we do not promote economic progress
• The rate of return must fulfill what we may term an institutional 

function: it somehow must provide the incentives to privatefunction: it somehow must provide the incentives to private 
management that competition and profit-maximization are 
supposed to provide in the nonregulated price economy 
generally.generally.

Don’t confuse my comments on cost of equity 
with notions of return on equity current levels of thatwith notions of return on equity—current levels of that 
variable are fine (the key is that it’s a different variable).



CFA Institute Equity Valuation Conference
Philadelphia, PA
November 2015



Why stockholders care only about macro 
i krisks

• Competition Scenario 1
• Solar City up 40%Solar City  up 40%
• Utilities  down 40%

• Competition Scenario 2
• Solar City down 40%

little net impact 
on portfolio

Solar City  down 40%
• Utilities  up 40%

• It’s the net effect across all stocks in institutional investor portfolios that matter to 
investorsinvestors

• Macro Scenario‐recession
• Solar City  downy
• Utilities  down



Why stockholders care only about macro 
i krisks

• Competition Scenario 1
• Solar City up 40%Solar City  up 40%
• Utilities  down 40%

• Competition Scenario 2
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• Utilities  up 40%
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Why stockholders care only about macro 
i krisks

• Competition Scenario 1
• Solar City up 40% this is a real risk to the utilitySolar City  up 40%
• Utilities  down 40%

• Competition Scenario 2
• Solar City down 40%

this is a real risk to the utility,
but not to its equity investors

Solar City  down 40%
• Utilities  up 40%

• It’s the net effect across all stocks in institutional investor portfolios that matter to 
investorsinvestors

• Macro Scenario‐recession
• Solar City  downy
• Utilities  down



Why stockholders care only about macro 
i krisks

• Competition Scenario 1
• Solar City up 40%Solar City  up 40%
• Utilities  down 40%

• Competition Scenario 2
• Solar City down 40%Solar City  down 40%
• Utilities  up 40%

• It’s the net effect across all stocks in institutional investor portfolios that matter to 
investorsinvestors

• Macro Scenario‐recession
• Solar City  down 40% this is a real risk to the utility,y
• Utilities  down 40% and to its equity investors



Why stockholders care only about macro 
i krisks

• Competition Scenario 1
• Solar City up 40% this is the distributedSolar City  up 40%
• Utilities  down 40%

• Competition Scenario 2
• Solar City down 40%

this is the distributed 
generation scenario

Solar City  down 40%
• Utilities  up 40%

• It’s the net effect across all stocks in institutional investor portfolios that matter to 
investorsinvestors

• Macro Scenario‐recession
• Solar City  downy
• Utilities  down



Who understands the cost of equity 
concept?p

McKinsey & Co—only macro risks matter to 
equity investors

OOR

Th h thi k ll i k ff t th t fThose who think all risks affect the cost of 
equity



MGE Energy (k = 10.0%; g = 5.0%)MGE Energy (k  10.0%; g  5.0%)
all risk here track GDP



WEC Energy Group (k = 10.0%; g = 5.0%)WEC Energy Group (k  10.0%; g  5.0%)
all risk here track GDP



Alliant Energy (k = 10.0%; g = 5.0%)Alliant Energy (k  10.0%; g  5.0%)
all risk here track GDP



Xcel Energy (k = 10.0%; g = 5.0%)Xcel Energy (k  10.0%; g  5.0%)
all risk here track GDP



MGE Energy (k = 7.8%; g = 3.8%)MGE Energy (k  7.8%; g  3.8%)
normal growthonly macro risk here



WEC Energy Group (k = 7.8%; g = 3.8%)WEC Energy Group (k  7.8%; g  3.8%)
normal growthonly macro risk here



Alliant Energy (k = 7.8%; g = 3.8%)Alliant Energy (k  7.8%; g  3.8%)
normal growthonly macro risk here



Xcel Energy (k = 7.8%; g = 3.8%)Xcel Energy (k  7.8%; g  3.8%)
normal growthonly macro risk here



MGE Energy value estimatesMGE Energy value estimates
• k = 10.0%; g = 5.0% (all risk in k; grow at GDP) $32.00
• k = 7.8%; g = 3.8% (only macro risk in k; normal growth) $46.00

• Actual stock price $46.65



WEC Energy value estimatesWEC Energy value estimates
• k = 10.0%; g = 5.0% (all risk in k; grow at GDP)  $32.94
• k = 7.8%; g = 3.8% (only macro risk in k; normal growth)  $49.41

• Actual stock price $52.94



Alliant Energy value estimatesAlliant Energy value estimates
• k = 10.0%; g = 5.0% (all risk in k; grow at GDP)  $41.54
• k = 7.8%; g = 3.8% (only macro risk in k; normal growth)  $61.50

• Actual stock price $61.76



Xcel Energy value estimatesXcel Energy value estimates
• k = 10.0%; g = 5.0% (all risk in k; grow at GDP)  $20.90
• k = 7.8%; g = 3.8% (only macro risk in k; normal growth)  $32.40

• Actual stock price $36.26



McKinsey & Co on riskMcKinsey & Co on risk

The unique risks that any particular companyThe unique risks that any particular company 
faces of say running into trouble or, even worse, 
bankruptcy (which clearly destroys shareholder
value) are not priced into the cost of equity. 



How does risk affect utility stock prices?How does risk affect utility stock prices?
Most of the risk associated with 

distributed generation resides here...

...not here
Distributed generation is a real threat to

utilities and it can affect the value 
of their stocks. It just doesn’t affect 
the cost of equity. That’s Finance 101.



This is not a new ideaThis is not a new idea

• A geologist looking for oil worries about the risk of a dry hole
• A pharmaceutical manufacturer worries about the risk of a new drug
• The owner of a hotel in a foreign country worries about expropriation



This is not a new idea
Are these risks that the firm should worry about?

AbsolutelyThis is not a new idea

• A geologist looking for oil worries about the risk of a dry hole

Absolutely

• A pharmaceutical manufacturer worries about the risk of a new drug
• The owner of a hotel in a foreign country worries about expropriation



This is not a new idea
Are these risks that equity investors would worry about?

NoThis is not a new idea

• A geologist looking for oil worries about the risk of a dry hole

No

• A pharmaceutical manufacturer worries about the risk of a new drug
• The owner of a hotel in a foreign country worries about expropriation



This is not a new idea
Are these risks that equity investors would worry about?

NoThis is not a new idea

• A geologist looking for oil worries about the risk of a dry hole

No

• A pharmaceutical manufacturer worries about the risk of a new drug
• The owner of a hotel in a foreign country worries about expropriation

The bad outcomes we cited 
appear to reflect unique risksappear to reflect unique risks 

that would not affect the rate of 
return demanded by investors. 

They affect cash flows.



McKinsey & Co on riskMcKinsey & Co on risk

Companies certainly do need to worry aboutCompanies certainly do need to worry about
the affects that are not macro‐related, even
though those risks don’t affect the cost of equity.

It’s all about cash flow risk.



distributed generation ultimately will affect 
the ability of utilities to earn returns

(or create more opportunities for utilities to earn them)

but will not affect the cost of capitalbut will not affect the cost of capital



capital will continue to flow even if risk 
lowers the return utilities will earn

but investors will expect to earn the samebut investors will expect to earn the same
return as they did before the risk increase



capital will continue to flow even if risk 
lowers the return utilities will earn

to make this happen
the stock price must decline

but investors will expect to earn the samebut investors will expect to earn the same
return as they did before the risk increase



Utilities can raise capital even if they earn less 
than the cost of equity, but can do so only at 
the expense of their existing investors.



r k







Utilities can raise capital even if they earn less 
than the cost of equity, but can do so only at 
the expense of their existing investors.

We don’t want this to happen.

It’s not fair.It s not fair.

But utilities can raise, and have raised, capital when
it happensit happens.

Whether they would do so willingly is a 
reasonable questionreasonable question.



The constraints here are institutional 
(regulators required to authorize a fair(regulators required to authorize a fair 
return) and managerial (executives 
want to protect existing investors),
not a capital market restriction.



TakeawayTakeaway

• If we don’t understand finance principles, we will have a hard time 
developing sound strategies relating to distributed generation

• Knowing how risk affects value is critically important
• Knowing how capital flows is essential• Knowing how capital flows is essential



TakeawayTakeaway

• If we don’t understand finance principles, we will have a hard time 
developing sound strategies relating to distributed generation

• Knowing how risk affects value is critically important
• Knowing how capital flows is essential• Knowing how capital flows is essential

• Are we getting this?Are we getting this?

• What are the implications for distributed generation?


